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Note: Candidates are required to give their answers in their own words as far as practicable.  Marks allotted to each

question are indicated against it.

[Part-1 (English)]

Q1. Read the passage carefully and answer the questions that follow: 5 marks

“Poor Kisa Gotami now went from house to house, and the people pitied her and said, "Here is mustard-seed; take it!"

But when she asked, "Did a son or daughter, a father or mother, die in your family?" They answered her, "Alas! the

living are few, but the dead are many. Do not remind us of our deepest grief." And there was no house but some

beloved one had died “Kisa Gotami bacame weary and hopeless, and sat down at the wayside watching the lights of

the city, as they flickered up and were extinguished again. At last the darkness of the night reigned everywhere. And

she considered the fate of men, that their lives flicker up and are extinguished again. And she thought to herself, "How

selfish am I in my grief! Death is common to all; yet in this valley of desolation there is a path that leads him to

immortality who has surrendered all selfishness."

(a) What did Kisa Gotami ask the villagers?

(b)What reply did Kisa Gotami get?

(c) What did Kisa Gotami realise in the end?

(d)What is common to all?

(e)What is the antonym of the word ‘Powerlessness’?

Q2. Do as Directed. 5 marks

(a) Ram said to Shyam, “I am driving a car” (change the narration)

(b)She is singing a song. (Change the voice)

(c) He will drive a car. (Change into interrogative negative sentence)

(d)We _____ speak English fluently. (Fill in the blank with suitable modal)

(e)Cat jumps ______ the wall. (Fill in the blank with proper preposition)

Q3. Write a short paragraph on any one of the following (in about 60-80 words). 5 marks

(a) Diwali

(b)Himachal Pradesh.

(c) A Picnic

[Part-2 (Maths)]

Note : All questions are compulsory.

Q.1 Rationalise the denominator 
53

5



. (3)

Q.2 Simply 7½ . 8½. (2)

Q.3 Factorise 6x2 + 5x – 6. (2)

Q.4 Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y = k. (2)

Q.5 The angles of quadrilateral are in the ratio 3 : 5 : 9 : 13. Find all the angles of the quadrilateral. (3)

Q.6 The curved surface area of a right circular cylinder of height 14 cm and 88 cm2. Find the diameter of the base of

the cylinder. (3)

[Part-3 (Science)]

Q.1 Write the value of gravitational constant. (1)

Q.2 State Newton’s 1st law of motion. (1)

Q.3 What are polyatomic ions? (1)

Q.4 Write the full form of ATP. (1)
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Q.5 Which organelle is known as power house of the cell? Why? (1½)

Q.6 a) Mass of an object is 10 kg. What is its weight on earth?

b) What is the formula for momentum? (1½)

Q.7 a) Write chemical formula for hydrogen sulphide.

b) Give Reason: Water at room temperature is liquid.

c) Convert 25°C into Kelvin scale.  (1½)

Q.8 a) Name the tissue which connects two bones together.

b) Write the function of xylem in plants. (2)

Q.9 Write differences between mass and weight. (1½)

Q.10 Differentiate between plant cell and animal cell. (3)

[Part-4 (Hindi)]

çå -1 fuEufyf[kr x|ka'k dks i<+dj cgqfodYih; ç'uksa ds mÙkj fyf[k,A      (5)

fdlh Hkh tho ds 'kjhj vkSj ekul ds lcls Åij efLr"d gSA bl efLr"d dk LoHkko dSls r; gksrk gSa cqf) esa gksus okys fopkj lsA
bldk eryc ;g gS fd fdlh Hkh O;fä ds ca'kkuqxr LoHkko dks mldh cqf};] mldk foosd cny ldrk gSA bldk vfHkçk; ;g gS
fd gekjs crkZo] gekjs deZ ij gekjk o'k gS] pkgs nqfu;kHkj ij Hkh u gksA ge vius LoHkko dks cny ldrs gSa&viuh cqf) esa ckjhd
cnyko ykdjA blds fy, gesa efLr"d dh :ijs[kk ij ,d utj nkSM+kuh gksxhA gekjs efLr"d ds nks fofHkUu va'k gSa&psru vkSj vopsruA
nksuksa gh vyx&vyx ç;kstuksa ds fy, ftEesnkj gSa vkSj nksuksa ds lh[kus ds rjhds Hkh vyx&vyx gSaA efLr"d dk psru Hkkx gesa fof'k"V
cukrk gS] ogh gekjh fof'k"Vrk gSA blh otg ls ,d O;fä fdlh nwljs O;fä ls vyx gksrk gSA gekjk dqN vyx&lk LoHkko] gekjh
dqN vuks[kh l̀tukRed 'kfä&;s lc efLr"d ds blh Hkkx ls lapkfyr gksrh gSa] r; gksrh gSaA gj O;fä dh psru jpukRedrk gh mldh
euksdkeuk] mldh bPNk vkSj egRokdka{kk dks r; djrh gSA blds foijhr euq"; ds efLr"d dk vopsru fgLlk ,d rkdroj çfrJqfr
;a= tSlk gh gSA ;g vc rd ds fjd‚MZ fd, gq, vuqHko nksgjkrk gS] tks nqgjk&nqgjkdj] gekjh vknr dk fgLlk cu pqdk gSA ;g tjjh
ugha gS fd vopsru fnekx dh vknrsa vkSj çfrfØ;k,¡ gekjh euksdkeukvksa ij vk/kkfjr gksaA fnekx dk ;g fgLlk vius tUe ds FkksM+s
igys ek¡ ds isV esa gh lh[kuk 'kq: dj nsuk gS; tSls thou ds ̂ pØO;wg^ esa mrjus ls igys gh ̂vfHkeU;q̂  ikB lh[kus yxk gksA ;gk¡ ls
ysdj lkr lky dh mez rd os lkjs deZ vkSj vkpj.k gekjs fnekx dk ;g vopsru fgLlk lh[k ysrk gS] tks Hkkoh thou ds fy, ewy
vk/kkj gSaA
cgqfodYih; ç'u&
çå1- fuEufyf[kr ç'uksa ds lgh fodYi pqfu,&

¼i½ gekjs efLr"d ds fdrus va'k gSa\
¼d½ rhu ¼[k½ pkj ¼x½ nks ¼?k½ ik¡p

¼ii½ dkSu viuh ek¡ ds isV esa gh ikB lh[kus yxk Fkk \
¼d½ jksgrk'k ¼[k½ cydju ¼x½ vfHkeU;q ¼?k½ vtqZu

¼iii½ ^tUe^ 'kCn dk foijhrkFkZd dkSu&lk gS \
¼d½ e`R;q ¼[k½ vkej.k ¼x½ mRifÙk ¼?k½ l`tu

¼iv½ ^c)f/k^ 'kCn dk fo'ks"k.k 'kCn D;k gksxk \
¼d½ cqf)iu ¼[k½ cqf)eÙkk ¼x½ ch–f/kd ¼?k½ cqf);qä

¼v½ ^fof'k"V^ 'kCn esa ç;qä milxZ dkSu&lk gS \
¼d½ bIV ¼x½ f'k"V ¼[k½ fo ¼?k½ fo"V

çå2- fuEufyf[kr fo"k;ksa esa ls fdlh ,d fo"k; ij fn, x, ladsr fcanqvksa ds vk/kkj ij 80&100 'kCnksa esa vuqPNsn
fy[ks a& ¼5 ½
eksckby Qksu& vko';d vax] ykHk] gkfu;ka] fu"d"kZA
iqLrdky; dh mi;ksfxrk& iqLrdky; dk vFkZ] iqLrdky; dk egRo] iqLrdky; Kkuo/kZu dk vuqie lk/ku] fu"d"kZA

çå3- fuEufyf[kr ç'uksa ds funsZ'kkuqlkj mÙkj nhft,& ¼5½

d½ ^n'kkuu* leLrin dk foxzg djds lekl dk uke fy[ksaA
[k½ ^ç* milxZ yxkdj nks 'kCn cuk,aA
x½ ^vuqHkoh* 'kCn esa çR;; vyx dhft,A
?k½ ^QSyh [ksrksa esa nwjryd] e[key& lh dksey gfj;kyh* iafä esa vyadkj Li"V djsaA
M½ vkidk D;k uke gS\  ¼vFkZ ds vk/kkj ij okD; Hksn fy[ksa½


